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ECONOMICS
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks : 100
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Instructions :

(1) All questions are compulsory.
(9) Internal choice is given in Question Nos. 17. 18. 253, 24, 27, 28, 29 and 30.
(3) Answer each Question Nos. 1 to 10 within the limit of 30 words.
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(5]
(6)
(7

P&l

Answer each Question Nos.
Answer each Question Nos.
Answer each Question Nos.

Answer each Question Nos.

{2}
11 to 18 within the limit of 50 words.
19 to 24 within the limit of 75 words.

25 to 28 within the limit of 120 words.

29 and 30 within the limit of 150 words,

Answer should be within preseribed words limit,

1. #ofe S99 F FE 27 29 HEn

Write any two demerits of Macro-economics.

2, USHITHHE FI7 F7 377 239 £ 7

What is meant by Monopoly Market ?

pa

HE % =9 F oF wd £ 2

What is meant by Public Expenditure ?

4. guronE Tog=m T w5 £7

What is meant of Standard Coin ?

5, HuiT IEEES w1 w57y £ 7

What is meant by Marginal Productivity ?

6. WA o o= =i *urem w9 g2 7

When was the Indian Reserve Bank established ?

7. G.D.P. %1 4@ 919 TAfEg |

Write the full form of G.D.P.
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14,

What is the Stock ? °

T2 Zum fFH FEn £ 7

What is the major Industry ?
LR.D.P. =1 701 71 faiEn |

Write the full form of [.LR.D.P.

ol wfedifrm ae #1 F=E AW fEwmen i fafgu |

Write any three characteristics of Perfect Competiton Market.

Ve FOE SISO Rl SiEias Taes w1 mgm g1 == H:e

Pad

Lad

“Indian Rupee is a mixture of standard and taken Coin.” Explain it.

e & =fp wdums § =15 T8 A9 =@nEdld

Differentiate in any three points between Macro and Micro-econemics.

I3 F FENTE SEe gugd & (9 FER 9Hl6d Fwl €2

How does the purchasing power of Money effect the Real wage 7

T # YA A% Wee w9 61 4 T § 2 FE A FE0 A9t

Why are Cooperative Banks not successful in India 7 Write

reasans.
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1é.

17

8.

19.

20.

(4)

ey fo=eE H1 = #4 § 7 36F wgE W ferEu

Ll

What is the meaning of Mean Deviation ? Write ite main merits.
T T T 9 FE-THRT "|aiaal = owme @ ? FET 99 amatn #5
ferfam | 3

During the preparation of Index Numbers, what precautions should be taken by

yvou ? Write any three precautions.
2T

Or

ey fagms 2 wam f99es 9 a=w gann

Differentiate between Mean Deviation and Standard Deviation ?

{4

Write a short note on Prime Minister Emplovment Scheme,

a7
Or

YerER" ¥ I § SEsE e

Write about “TRISEM”.

Id® F0F § 21 T § i 98 Fl orEn | 4

Write any four differences between Economic Rent and Contract Rent.

[T HT F wiheie w1 H 98 5 =90Ed 4

Differentiate between any four Regressive tax and Progressive tax.
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21, FrefetEn SEST % U W R EW S AU S W SeEd & F SR

THITAL ; 4
5 =4 (FE & °)
(1) =afwae =99 &2 25,000
(2) Hwe wie Fen f@EEm 20,000
(3) HRE] @EE W =g 15,000
(4) 3z Tommn f&fEn 10,000
(5) WU SATEAl ®I W F WL 30,000
(6) W =rarad =1 A 40,000

Caleulate National Income using Production method of the tollowing data -

Ttems Expenditure
(Rs. in crore)

P

(1}  Individual Censumption rate 25,000
{2)  Gross Domestic Private Investment 20,000
(8) Expenditure on Government Purchase 15,000
(4) Net Foreign Investment 10,000
(5)  Total Income of all Persons 30,000
(6) Total of Agriculture Production 40,000
22, T sffwei 8 U fH=Eer F@ Fi= 4

kI 1 2 3 B 5 & 7
S 4 3 10 14 6 s 3
Find out the Standard Deviation from the following data :

Size : 1 2 3 4 5 6 7
Frequence : 4 8 10 14 6 5 3
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26.

27.

(6)

| wy TEm #n FeR sEm F fEE ww faeel = geen il 4

Compare between Small Scale Industries and Cottage Industries in any four
points.

Ha4aT
Or

T TR SR ST AYE W w9 B AR

“Tron and Steel Industry is the base of Modern Economie Culture.” Explain.

. < i i e e § 7w A 4

Why iz Sugar Industry located 7 Give any four reasons.
HEar

Or
ofrem #me 3 5z 39 947 Taifee U MY ¥ 7 SErE F FET A |

Why most of the Jute Industries are located in West Bengal 7 Give the causes
of localization.

T W W B Wi favmasl ¥ e F fafew 5
Write any five characteristies of Normal Price.

il

Why is Indian Reserve Bank known as Bankers Bank ? Explain.

L

g1 HEEA G ¥ WA 7 TEE (B am waEl F A F fahe
What is meant by Money Deflation ? Write about any three effects of it.

AT
Or

g1 HEEd & fdl e FRO w1 SeoE Hie |

Deseribe any five reasons of Money Deflation.
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8. =T F] 27 F] vufEs T4 I (Tl 9= g9=5%1 31 s FNA0 |

n

Write about any f{ive elements which effect the Rate of Interest,

HEdr
Or

Write merits and demerits of Time based wage.

- - f T r~ Ll - " o e [ o
29, =15 H1 g gHE faam T 27 A w1 = 979 A eian | &

What is the Liquidity Preference theory of Interest ? Write any five critisisms
of the theory.

Hadr
Or

TRIE] =1 W TOsr 39 £ fAs S 28 19 @miean feia | &
What is Recardo theory of Rent ? Write any five eriticisms of the theory.

30, @1 3 Fi9d O F F= £ 7 UH GeY FT-UUET & Hew] 9 wmEygs fEmraeen =
U T | 6

What is the difference between Tax and Priee ? Illustrate any six characteristics

essential in an Ideal Tax system.

g7
Or

UG F-FTEl & [HE] [ 9 3 56l S jaeg |

Write any three merits and demerits of Indian Taxation system.
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Instructions :

(1) All questions are compulsory.
{2} Internal choice is given in Question Nos. 17, 18, 23, 24, 27, 28, 29 and 30,
(3) Answer each Question Nos. 1 to 10 within the limit of 30 words.
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{2)

(4) Answer each Question Nos. 11 to 18 within the limit of 50 words.
15) Answer each Question Nos. 19 to 24 within the limit of 75 words.
(6) Answer each Question Nes. 25 to 28 within the limit of 120 words.
(7) Answer each Question Nos. 29 and 30 within the limit of 150 words.

(8) Answer should be within preseribed words limit.

|, =E AdwE = 3 fHvean S 2

Write any two characteristies of Mtero-economies.

2. U A=H H{ET k HE G W E 2

Facd

What are the merits of a good Money ?

3. =W &1 30 o9T9R % O=EE F 58 I 99ieg F:490 £ 7 2

How does Government policy effect the Extent of Market 7

| 4. GN.P, %1 91 719 faiEn| 2

| Write the full form of G.N.P.

5. T A & A & AE faEd |

(L]

Write name of the parts of Gross interest.

L=

6. Bf. BEEA & AN FT F| A fEiE

Write the definition of Tax given by Dr. Dalton.

7. favg ¥ ¥ =5 @ IRvg foaun

29 ]

Write any two objectives of World Bank.
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8, =T H A9 = OhEd £ Y 2

What do mean by Stock 7

o W "@irE F 5 fafEn 2

Write the meaning of seasonal Unemployment.

10. SAIL H= =1 901 1 ToiEn | 2
Write the full form of SAIL.

11. g0 yhEEfTa AT W FE o9 e o 3
Write any three characteristics of Imperfect Competiton Market.

N - I - e -—

12. THE W AR H4EE F Tel qF (Tl 9 =R FHie 3
Differentiate in any three points between Miecro- and Macro-economics.

13. "'qE ey w1 9 B aesmsal 3
“Money is the measure of value” Explain.

14, TETEl & oA fageg S Fedbs 99 Je9rkies 349 el 9 2 2 3
Why is Recardian theory of RHent known as Imaginary and Unreal ?

15, YFT H TEwrl 9% AEd 0 981 21 I8 £ 7 S A S e 3

Why Cooperative banks are not sucecessful in India ? Write any three
Teasons.
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16. TAEw= =% F1E @9 9 miall 3

Write any three importance of Index number.

17. guTe fa=em =1 uE ey - CIE A A (A |

(FT]

Why is Standard deviation called a ‘Model and Scientific measure 7
HeEdr
Or

e |

During the preparation of Index number, what precautions should be taken by

vou ? Mention any three precautions.

fad

g, guTEES IEE e oS 22
What is ‘Prime Minister Employment Scheme’ ?
=)
Or
qEa § TE ¥ oadw w1 R 2

What are the Economic reasons of Poverty in India ?

9. Fo AW AR ge = R A sl § gen i 4

Differentiate any four points between Gross Interest and Net Interest.

20, TITAgel i ZToETO digd IF EFELE 4

Explain the Progressive tax with examples,
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(1) STdE A F 3E 3,500 W % °
(2) TAUE] HEOEH w1 ST 1,000 TG %.
(2) deTm FEEH F IR 1,500 #FE ¥,
(4) TSE HEHAT H ITHEA 500 E .
(5) Taz9i & @f=q ¥[& HHT A9 300 &1 E.
(6) Jed B 100 =TF %,

Caleulate Gross Domestic Production with the help of the following informations

(1) Production of Consumer Goods R=. 3.500 lakh
{2)  Production of Consumer Services R=. 1,000 lakh
(3)  TProduction of Capital Goods Rs. 1,500 lakh
(4)  Production of éjapital Services Rs. 500 lakh
{(5) Net Income from Foreign Rs. 300 lakh
(6) Value Diminishing Rs. 100 lakh

y2. gE FEm FT <9 AR T fAw @ SR g e

Suggest any four measures to improve the condition of Cotton Industry.

23. 7991 A=l 4 gAM T9=9ed 7@ Hi=G

HAFER 1 2 3 4 5 b
A & 12 18 26 16 10

Find out the Standard Deviation from the following data :
Size : 1 2 3 4 5 6

Frequency . é 12 18 26 ié 10
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(6)

Or
‘wrem Tawrea ' W fevraATd fAET
Write the characteristies of Mean Deviation.
24, wwA # fasvh =mm w0 e = v w1 Ieea Fi)
State any four characteristics of Indian Foreign Trade.
HOdT

Or
T SN W B 91| F:iE =R o faan |
Write any four advantages of International Trade.
25w fod S 39 #1 8% & ¥ § S w6 A 82 gHEEh |
Why is Reserve Bank of India known as Bankers Bank ? Explain.
26. AR ¥ fAEE F wIEE 19 9@ G & 999 HE
Deseribe the factors effecting the Extension of Market.
27, HE % F wens w1 w@ 79 e w=E s Seed S
Describe two Primary functions and three Secondary functions of Money.
=l
Or
u| 951 7 79 g § = o= sl w ge s
Compare Metallic Currency and Paper Currency on any five points.
28, = S T IS I AEl B HEal

Why the Rate of Interest can not be zero ?
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ArTas Tagi] a9 T8 Hegdl § i T9F Fie|
Distinguish between Net Wages and Real Wages.

W FNEF FT UFY FAEH F GUH FH FHgU T Al €2 FIE 9" FEO
TeEy | &
Why doez a Female labour get less wage in comparison of Male lahour? Write

any five reasons.

wgat
Or
qrREE g F1 giam difen s TR ue favmme F1 fefan &

(Give the definition of Real wage. Write any five characteristics of it.

(ot

w1 T g featan | gofeshs @it oo ¢ § S=1 T S0 F9 9 F s
% 7 §HET) &
Define Tax. Differentiate between Progressive Tax and Proportionate Tax. Which
Tax is better ? Explain,
HAdTr
Or

-

e faw geats o9 4 5 v=r fae €2 5= 2 faaars &1 3@ wifany

How is Private Finance different from Public Finance 7 Describe any six

differences.
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ECONOMICS
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Maximum Marks : 100

(1) |4 791 Afqad £ 1
(2) 99 FEF 17, 18, 23, 24, 27, 28, 29 WH 30 H gl fowey feuw mm £ 2
(8) WY FHE 1 H 10 TF F UHE WIT HT I 0ET 30 W § BT
(4) W3 ®ATE 11 H 18 TF F YF W97 F1 IW GET 50 TeEEl A Sian
(5) U9 FATF 19 ¥ 24 TF & T=IF F99 F S o047 75 U=] H St
(6) 9¥7 FHiT 25 9 28 TF F UHF WY HI IuC oHT 120 Vel § e |
(T) W99 FHi® 29 U3 30 & YA U3 51 S o7 150 ¥ies] § sieae)
(8) I YfE Y- § 27 Sifeg|

Instructions :

(1) All questions are compulsory.
(2) Internal choice is given in Question Nos. 17, 18, 23. 24, 27, 28, 29 and 30.
(3) Answer each Question Nos. 1 to 10 within the limit of 30 words.
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(2)
(4) Answer each Question Nos. 11 to 18 within the limit of 50 words.
(5) Answer each Question Nos. 19 to 24 within the limit of 75 words.

() Answer each Question Nos. 25 to 28 within the limit of 120 words.

{7) Answer each Question Nos, 29 and 30 within the limit of 150 words.

(8) Answer should be within prescribed words limit,

. wEE wdeeE w1 HEgEe w8

What is subjeet-matter of Macro-economics ?

. Hishfa=s Hzl =1 5d TEEEL

Explain the token Money.
ST T T wEd £ 2

What is meant by Quasi-rent 7

g L 9 s 3= aeE B 7

What do you mean by Regressive tax ?

. fayg F= =1 90 $4 g7 TEA w4 H FH w0 T F47

When was the World Bank established ? When did it start working ?

g w1 T =TEd uiEym feiEg

Write an appropriate definition of ‘Market'.

N.N.P. 1 Y0 719 FaEL |

Write the full form of N.N.P.
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12.

=i
1.fi

. BN (TeEE) TE g=0EiE =UE 8 F®1E 96 99Fan. 949780 | .

= = ol = M7 = e oo e ey o 2

What de you mean by Stock 7

(zive any four similarities between National and International Trades.
A5¥E ST O 1 A9y £ 7 -

What is meant by hidden Unemployment ?

fad

HeN UE = wdurs § Fe 9 fEma 3 @ wian

Differentiate in any three pointe between Micro-economics and Macro-ecanomics,

AT HEd &1 FHiE A fasraem feran

3
Write any three characteristics of Market Value (price).
o MR 99 4E A 5 am o fum 7 s 90 3|l # g9el gee E e 3

In what sense Metallic Currency iz different from Paper Currency ? Write any
three points of difference.
qd § Hedll 4% TFA T 981 81 18 8 2 di SE =dqE | 3

Why Cooperative banks are not successful in India ? Write any three

reasons.

“fomm W wWEH F1 fT=0 959 #@faivgs 2 21 39 %YS S 9aEng 3

- “The share of enterpriser is uncertain in distribution.” Explain this statement.

R—1—-T—5041C1 PGk
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16. Trdwi® =1 uftumm fomd gn ww 9w wite i F R 9 e 7 oo
.

Write the definition of Index Number and compare between Simple Index number

Ll

and Weighted Index number in any two points.

17. 2y T &7 Hiem faEro Sife

Lsd

What is "TRISEM’ ? Give brief account.
HE4gr
Or

Describe about the efforts done by Government ta get rid from Regional imbalance.

18. WA fo9e@ &1 UF "' aew 9 gmias 9 =@ wE w9 g 7 3
Why are Standard deviation called a “Model and Scientific measure” 7
HYET
Or

& F9[0 999 A1 [HA-TH1 Iea=EE 51 wE § o293 ? F=1 49 36
FT SeoiE FHITAL |

During the preparation of Index numbers, what precautions should be taken by

you ? Deseribe any three precautions.

19. I 9 wH EEE o9 § 521 96 FgE § qe Fiten) 4
Compare between Normal profit and Abnermal profit in any four points.
20. WUTOYE FHL F HIE =9H €9 fArEn| 4

Write any four demerits of Progressive Tax.
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21, fr=ATdAfEa RSl % YR W g A TSN 30 T A@F &0 T9E RIS

(1) 9EF A9 TG

(2) ==
(3) ==
(a) 77 &H
(5) o4

FT 5 H
30,000
5,000
3,000
2,000

40,000

Calculate National.Income by using the Income caleculation method :

[tems
(1) Pay and Wages
(2) Interest
(3)  Rent
(4] Value diminizshing

(5) Profit-

22. S FEM FI TIN GYUEA ¥ w3 97 A S99

Rs. in Crore
30.000

5,000

3,000

2,000

40,000

Give any four suggestions to improve the condition of Jute Industry.

23, =1 wiwgl | gam f9=9em @@ =iag)

AR ; 1 2 = 2 5 &
s 4 8 10 14 8 5
Find out the Standard deviation from the following data :

Size 1 2 3 4 5 6
Frequency : 4 8 10 14 & 5
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(6)

e To=em =t favman fafan)
Write the characteristics of Mean deviation.

24, Taems o wR-Toum = wnfa £ % o w9 8 FF STEr § ¢ el An HmE]
#F an 7 fafEe . 4
Which factors are responsible for the establishment of Iron and Steel Industry
in Bhilai 7 Write about any four factors.

T
Or
SR HEeE TE A 9qe9 § (el 91 Egdl B qer wie |
Compare between Balance of Trade and Balance of Payment in any four points.
25, AN ¥ fomw W O99E Ted a9 el wie aen oAl 3 e 5

Write about any five elements which effect the Extension of Market.

26, WFdrE Toed A% d%) =1 9% 9] Feaw ¢ ? 5
Why Reserve Bank of India is called Bank of the bankers ?
27, “'udE O OEE w AT R HHEE 5

“The present time is time of Money.” Explain.

EMEEE
Or

om wER W feifas w0 F %6 ue swE e

Write any five measures to check the Inflation.
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Which elements effect the Heal wage ? Explain any five elements.

37eEdr
Or

W oS T g A § Fwl ua fame § oaer s
Write any [ive points of differences between Net Interest and Gross interest.

E2 11 Tl M B 1 e 1 M o e e e e s Bt o s L B 1 A e AR e
TRl | 8

Write the definition of Economic Rent and Contract Rent, Compare both in any

four points.
TerET
Or
a2t & o Tagre = ufun fafgu ad a9 S U See 59 9EEEll 6

Write the definition of Recardian Rent theory and illustrate with an example.

FAETO F THwl @ HamEl 51 8949 1 FEAEEe | é
Explain in brief any six Canons of Taxation.

HEET
Or

WAk F AUeAR W % [Hel o agE H ger sy

-

Compare Direct and Indirect Taxes on any six points.
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